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If β 0 then I recover the result previouslyobtained

for a charge moving at constantvelocity
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Note In thegeneral case relativistic boostto

the instantaneous rest frame
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Let's compare transverse and longitudinal

acceleration at fixed magnitude of the

applied force
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Importunceconsequence

Consider a charge accelerating and moving at a

extreme relativistic speed the radiation is

a coherent superposition of contributions from

longitudinal and transverse acceleration

But the latter dominates

Hence at any instantyou can view the

charge as if it were radiating while

traveling along the arc of a circularpath
with a radius of curvature
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